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1.  Write your Roll No. on the top immediately on receipt
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2. The question paper consists of 8 questions.
3. Question 1 is COMPULSORY and carries 25 marks.

4. Attempt any five questions out of questions 2-8. Each

question carries 10 marks.
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paper.
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(c) Enlist five problems that a social science
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(a) ‘The structure of a research paper is a gateway

to a research project’. Discuss.

(b) A marketing company wants to know the popularity
of a newly launched product across males and
females. A survey was conducted on a sample of
200 respondents. Develop an appropriate frame

of analysis for this exercise.

researcher may face with secondary data sources

with an example.

(d) What are the determinants of validity and
reliability of a research instrument? Do these
determinants differ across quantitative and

qualitative research?

(e) A researcher outsourced data analysis work
for her academic research. Is this ethical/
unethical in a real life setting of our contemporary
world which is governed by the market

economy?
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(a) How do an essay and a working paper differ from

a published research paper?

b) Which element of the research process leads to
fresh dimensions of the existing literature on a

particular theme? How?
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3. (a) How does a research design differ from a study

design? What role does the literature review play

in deciding a study design?

(b) Research outcomes based on quantitative data are
influenced by categorical variables. Elaborate on
this using five possible ways of categorizing

variables.
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4. (a) Can good research be conducted without framing

a hypothesis? Explain.
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(a) An organization conducts a survey about the

employee experience who underwent a training

session. The following questions were asked on

the Likert scale.

Statement 1:

Statement 2:

Statement 3:

Statement 4:

Statement 5:

Statement 6:

The training was relevant.
The instructor was engaging.

The quality of the course material

used was poor.

The multimedia tools used were not

effective.

The content used was easy to

understand.

The overall experience with the

training session was satisfactory.

Each statement has five possible responses. For a

positive statement, the corresponding five-point

numerical scale is as follows :

3017 9
Strongly Agree 5; Agree 4; Uncertain 3; Disagree
2 and Strongly Disagree 1

Two employees’ feedback is presented in the

table below. Which employee found the training

better?
Employee 1 Employee 2

Statement No. 1 ] Ze st g il 12,6 34 4 {18 )] 6
Strongly Agree # . "
Agree ; # #o|# *
Uncertain # o
Disagree # i
Strongly Disagree i

(b) Explain the concepts of ‘inflation factor’ and
‘sampling fraction’. What are the common errors

in conducting a sample survey?
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